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Question Number : 1 Question Id : 97103631021 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following 1s the main objective of teaching?

Options :

1 » To give information related to the syllabus

, » Help the students in getting jobs

5« To develop thinking capability of students



4 » Prepare the students for examination.

Question Number : 2 Question Id : 97103631022 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following is not a level of teaching learning?

Options :

1 » Memory level

> « Differentiation level

3. % Reflective level

4« Understanding level

Question Number : 3 Question Id : 97103631023 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

An effective teacher will ensure

Options :

| w Laissez-failure

, » Competition among students

5 » Competition or cooperation as the situation demands



4« Cooperation among his students

Question Number : 4 Question Id : 97103631024 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Morphograph is the term associated with

Options :

| « Corrective spelling

, » Corrective learning

3 % Corrective behavior

4% Corrective reading

Question Number : 5 Question Id : 97103631025 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following is NOT associated with micro-teaching ?

Options :
 Knowledge acquiring
1 . u b L

Skill training

5 o Atomic teaching procedure



4 » Content transfer

Question Number : 6 Question Id : 97103631026 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The main aim of ‘National Council for Teacher Education’ 1s

Options :

- To promote research in education

, » Tomaintain standards i colleges of education

5 » L0 provide grant to colleges of education

4 = Lo open colleges in education

Question Number : 7 Question Id : 97103631027 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following 1s a Massive Open Online Course (MOOCs) platform created by the

MHRD. Govt. of India?

Options :

. » SWAYAM

, « PRATHAM



3 » OPEN LEARN

, » FUTURE LEARN

Question Number : 8 Question Id : 97103631028 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following does not belong to a projected aid?

Options :

- Overhead projector

5 o Black board

_— Epidiascope

4% Slide projector

Question Number : 9 Question Id : 97103631029 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The purpose of formative evaluation is to

Options :

J Accelerate student’s learning performance



Provide a feedback to teacher effectiveness

3 % Grade students learning outcomes

Check student’s performance graph

Question Number : 10 Question Id : 97103631030 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Assertion (A): Learning is a lifelong process

Reason (R): Learning to be useful must be linked with life process.

Choose correct answer from the following

Options :

- Both (A) and (R) are true and (R) 1s the correct explanation of (A)

5 % Both (A) and (R) are true. but (R) is not the correct explanation of (A)

3 % (A) 1s true. but (R) 1s false

4 % (A)I1s false. but (R) 1s true

Question Number : 11 Question Id : 97103631031 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



‘Gyan Darshan’ launched by IGNOU refers to which one of the following?

Options :

1 Satellite based educational T.V. channel

, % Educational F.M radio network

5 » Global mitiative of academic networks

4 Online courses

Question Number : 12 Question Id : 97103631032 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the sets of activities best indicate the cyclic nature of action research strategy?

Options :

Reflect. Observe. Plan. Act

1. %

5 @ Plan. Act. Observe. Reflect

3 % Act. Plan. Observe. Reflect

Observe, Act. Reflect. Plan

Question Number : 13 Question Id : 97103631033 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Which of the following research types has a potential for enhancing teaching competencies?

Options :

- Fundamental research

Applied research

2. %

3 % I_'lllpﬂ{:'[ assessment research

4V Action research

Question Number : 14 Question Id : 97103631034 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following is the main aim of interdisciplinary research?

Options :

- To bring out holistic approach to research
, « Lo over simplify the problem of research

5 » loreduce the emphasis of single subject in research domain

4 » Tocreate a new trend in research methods



Question Number : 15 Question Id : 97103631035 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Manipulation 1s always a part of

Options :

| » Fundamental research

,  Descriptive research

5 » Experimental research

4« Historical research

Question Number : 16 Question Id : 97103631036 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A thesis statement 1s

Options :

|« Afact

, » An observation

5 % A discussion

4 An Assumption



Question Number : 17 Question Id : 97103631037 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following is an indication of the quality of a research journal?

Options :

g-index

1. #

, % D-index

5 » lmpact factor

. 110-mndex

Question Number : 18 Question Id : 97103631038 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A hypothesis is a

Options:

1 = Postulate
> % Law
Canon

3. %

4V Supposition



Question Number : 19 Question Id : 97103631039 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Ethical norms in research do not involve guidelines for

Options :

1 % Copyright

5 Thesis format

- Patenting policy

Data sharing policies

Question Number : 20 Question Id : 97103631040 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following 1s a research tool?

Options:

| « lustration

, % Graph

- Questionaire



s
4 % Diagram

Is Section Default? : null

Question Id : 97103631041 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (21 to 25)



Read the Passage and answer the following questions:

The Taj Mahal has become one of the world’s best known monuments. This domed white
matble structure 15 situated on a high plinth at the southern end of a four-quartered garden,
evoking the gardens of paradise, enclosed within walls measuring 305 by 549 metres. Outside
the walls, i an area known as Mumtazabad, were living quarters for attendants, markets,
serais and other structures built by local merchants and nobles. The tomb complex and the
other imperial structures of Mumtazabad were maintained by the income of thirty villages
given specifically for the tomb’s support. The name Taj Mahal 15 unknown in Mughal
chronicles. but it 1s used by contemporary Europeans in India, suggesting that this was the
fomb’s popular name. In contemporary texts, it is simply called the illuminated tomb (Rauza-
I-Munavvara).

Mumtaz Mahal died shortly after delivering her fourteenth child in 1631, The Mughal court
was then residing in Burhanpur. Her remains were temporarily buried by the grief-stricken
emperor in a spacious garden known as Zainabad on the bank of the river Tapti. Six months
later, her body was transported to Agra, where it was interred in land chosen for the
mausoleum. This land, situated south of the Mughal city on the bank of the Jamuna, had
belonged to the Kachwaha rajas since the time of Raja Man Singh and was purchased from
the then current raja, Jai Singh. Although contemporary chronicles indicate Jai Singh's
willing cooperation in this exchange, extant farmans (imperial commands) indicate that the
final price was not settled until almost two years after the mausoleum’s commencement, Jai
Singh’s further cooperation was msured by imperial orders issued between 1632 and 1637
demanding that he provide stone masons and carts to transport marble from the mines at
Makrana, within his “ancestral domain’, to Agra where both the Taj Mahal and Shah Jahan's
additions to the Agra fort were constructed concurrently.

Work on the mausoleum was commenced early in 1632. Inscriptional evidence indicates
much of the tomb was completed by 1636. By 1643, when Shah Jahan most lavishly
celebrated the ‘Urs ceremony for Mumtaz Mahal’, the entire complex was virtually
complete.

Sub questions

Question Number : 21 Question Id : 97103631042 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Marble stone used for the construction of Taj Mahal was brought from the ancestral domain
of Raja Jai Singh. The name of the place where mines of marble were situated, 1s

Options :

| Buthanpur

Makrana
2. %

_— Amber

4w Jaipur

Question Number : 22 Question Id : 97103631043 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The popular name Taj Mahal was given by

Options :

1 w» Shah Jahan
Muntaz Mahal

2. %

3« Jai Singh

Europeans
4. ¢



Question Number : 23 Question Id : 97103631044 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Point out the true statement from the following.

Options :

1 » Marble was not used for construction of the Taj Mahal.

- Red sand stone is non-visible in Taj Mahal complex.

- The Taj Mahal is surrounded by a four-quartered garden known as Chahr Bagh

4% The Taj Mahal was constructed to celebrate the ‘Uts ceremony for Mumtaz Mahal’

Question Number : 24 Question Id : 97103631045 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In the contemporary texts. Taj Mahal is known

Options :

1 % Mumtazabad

> = Mumtaz Mahal

Zamabad

4 Rauza-i-Munavvara



Question Number : 25 Question Id : 97103631046 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The document indicating the ownership of land. where Taj Mahal was built. is known as__

Options :

| » Farman

5> % Sale deed

3 % Sale-purchase deed

4 = Gift deed

Is Section Default? : null

Question Number : 26 Question Id : 97103631047 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Telephone is an example of

Options :

» Linear communication

, Non-linear communication

2 % Circular communication



4 % Mechanized communication

Question Number : 27 Question Id : 97103631048 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The mode of communication that mvolves a single source transmitting information to a large

number of receivers simultaneously. is called
Options :
| » Group communication

> Mass communication

- Interpersonal communication

4 Intrapersonal communication

Question Number : 28 Question Id : 97103631049 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In communication. the language is

Options :

- The non-verbal code

5 The verbal code



3 % The symbolic code

4% The iconic code

Question Number : 29 Question Id : 97103631050 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Chatting in internet is type of communication

Options :

1 = Parallel communication

, % Grapevine communication

" Verbal communication

4 » Non-verbal communication

Question Number : 30 Question Id : 97103631051 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which group of communicating aspects does not disrupt the communication process

in the class?
Options :

| « Evaluating - focusing - exaggerating



5 Focusing — illustrating - exaggerating
- Evaluating — focusing - illustrating

. x Reversing — Evaluating — focusing

Question Number : 31 Question Id : 97103631052 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following can be termed as verbal communication?

Options :

1 « The child was crying to the attention of the mother

) Signal at the cross-road changed from green to orange

3 Professor RAM delivered the lecture in the class room

Deepika wrote a letter for leave application

Question Number : 32 Question Id : 97103631053 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The first Indian satellite for serving the educational sector 1s

Options:

1.



. INSAT-B

5 EDUSAT

5 INSAT-C

, » SATEDU

Question Number : 33 Question Id : 97103631054 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In analog mass communication. stories are

Options :

1@ Stafic

, % Dynamic

5 x lnteractive

Exploratory
4, % :
Question Number : 34 Question Id : 97103631055 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If a certain code MANISH is written as NZMRHS. then how will RANJITA be written
in the same code?

Options:

. 1ZMPRGZ

, « ZMQRIZ

3 @ IZMQRGZ

4 % 1ZMQRHZ

Question Number : 35 Question Id : 97103631056 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A'ts father of C and D 15 son of B. E 1s brother of A. If C 1s sister of D, how 15 B related to E?

Options :

Brother-in-law

> o Sister-in-law

3 % Husband

4 » Daughter



Question Number : 36 Question Id : 97103631057 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Complete the series Q1F, S2E, U6D, W21C,

Options :

.« YG66B

, « Y44B

3 v YS8B

4 = Z88B

Question Number : 37 Question Id : 97103631058 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

[f SHARP 15 coded as 58034 and PUSH is coded as 4658 then RUSH 1s coded as

Options :

3568

1. %

W

#
I'__|_J
[}
o0
L

il
L
o0
Tl



Question Number : 38 Question Id : 97103631059 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

RIDE : LNBE :: HELP : ?

Options :

. % NINP

, » BAIP

. » BIIP

, » JPCH

Question Number : 39 Question Id : 97103631060 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The ratio of the boys and girls in a school 1s 7:6. If 100 boys join in the school, the ratio

would become 5:4 then the number of girls in the school is
Options :

1 % 200

.+ 800

1200



4« 1600

Question Number : 40 Question Id : 97103631061 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What 1s the least number to be subtracted from 696 to be it a perfect square?

Options :

I

1. %

16

Question Number : 41 Question Id : 97103631062 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

[f a trader sold two cars each at Rs.325475 and gains 12% on the first and losses 12% on the

second, then his profit or loss percentage on the whole is

Options :
14.4% profit

1. %

1.44% loss
2.9



3 % 14.4% loss

o x 0%

Question Number : 42 Question Id : 97103631063 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

At what rate of interest s an amount doubled in two years, when compounded annually?

Options :

41.4 %

-]

)

4. %

Question Number : 43 Question Id : 97103631064 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If 24 men can do a work m 35 days. how many men are required to complete the

work in 21 days?

Options:

38



il
oM

Question Number : 44 Question Id : 97103631065 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A train travels for 9 hours. It travelled the first half of the distance at 12 kmph and remaining

distance at 15 kmph. Find the distance.
Options :
120

1.4

, w180

920

4.% 60

Question Number : 45 Question Id : 97103631066 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following groups of fractions 1s in descending order?



Options :

§9 6

51311
1. %

8 6 9
, x 15711713

s BB

131115
3. %

6 8 9

1115713
4. %

Question Number : 46 Question Id : 97103631067 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Consider the statements ;

[ Twatch TV only if Tam bored
II. Tamnever bored when I have my brother’s company
[Il.  Whenever I go to the theatre I take my brother along.

Which one of the following conclusions is valid in the content of the above statements.

Options :

If Tam bored. I watch TV

, % IfIambored, I seek my brother’s company.



5 » IfTamnot with my brother. then I'watch TV

4V If T am not bored. Ido not watch TV

Question Number : 47 Question Id : 97103631068 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Find the number of triangles in the given figure.

Options :

1. % 8

2. % 10

Question Number : 48 Question Id : 97103631069 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Select the missing number from the following.

84 o 88

12 11

Options :

3 x 14

4 v 16

Question Number : 49 Question Id : 97103631070 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Study the following pie graphs carefully and answer the questions given below. Distribution of

Candidates Enrolled For M.B.A. Entrance Examination And Those Who Passed In Different Institutes :

P.QRS T.VandX.

Candidates Enrolled Candidates Who Passed
= 8550 = 5700




What percentage of candidates passed the Exam from mstitute T out of the total number of

candidates enrolled from the same institute?

Options :

0.
Cw 50%

62.5%

2 v T5%

80%

Question Number : 50 Question Id : 97103631071 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Study the following pie graphs carefully and answer the questions given below. Distribution of

Candidates Enrolled For M.B.A. Entrance Examination And Those Who Passed In Different Institutes :

P.QRS T Vand X.

Candidates Enrolled Candidates Who Passed
= 8530 = 5700

What 1s the ratio of candidates passed to the candidates enrolled from istitute P?
Options :

R |

1. %



, x 14:17

3.¢

4, ®

Question Number : 51 Question Id : 97103631072 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Study the following pie graphs carefully and answer the questions given below. Distribution of

Candidates Enrolled For M.B.A. Entrance Examination And Those Who Passed In Different Institutes :

P.QRST.VandX.

Candidates Enrolled Candidates Who Passed
= 8550 = 5700

What 1s the percentage of candidates passed to the candidates enrolled for institutes

Q and R together?

Options :



Question Number : 52 Question Id : 97103631073 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Study the following pie graphs carefully and answer the questions given below. Distribution of

Candidates Enrolled For M.B.A. Entrance Examination And Those Who Passed In Different Instifutes :

P.QRS T VandX.

Candidates Enrolled Candidates Who Passed
= 8530 = 5700

Which institute has the highest percentage of candidates passed to the candidates enrolled?

Options :

Q

1. %

2. ¥

3. % V



Question Number : 53 Question Id : 97103631074 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Study the following pie graphs carefully and answer the questions given below. Distribution of

Candidates Enrolled For M.B.A. Entrance Examination And Those Who Passed In Different Institutes :

PQRS T VandX

Candidates Enrolled Candidates Who Passed
= 8550 = 5700

The number of candidates passed from institutes S and P together exceeds the number of

candidates enrolled from institutes T and R together by

Options:

Question Number : 54 Question Id : 97103631075 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following 1s not a network device?
Options:

.~ CPU

Switch

5 « Hub

4 « Router

Question Number : 55 Question Id : 97103631076 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A Gigabyte is equal to

Options :

1024 bytes
_ 1024 kilobytes

1024 megabytes

1024 terabytes



Question Number : 56 Question Id : 97103631077 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A computer program that translates a program statement by statement into machine

language is called

Options :
A compiler
An interpreter

A translator

A simulation

Question Number : 57 Question Id : 97103631078 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following 1s correct for (17)10.

Options :

., (10011);

, o (10111),

., (10001);



4w (11001);

Question Number : 58 Question Id : 97103631079 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following protocol supports to link from one webpage to another page?

Options :

.« HTML

14

. » FTP

, o HTTP

Question Number : 59 Question Id : 97103631080 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following 1s the biggest news agency in India?

Options:

UNI

1. %

, o PTI

3 x NAAP



4 % Samachar Bharathi

Question Number : 60 Question Id : 97103631081 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The purpose of ICT use in education is to

Options :

Make teaching interesting

, » Attract students

- Optimize learning process

Promote technology in teaching

Question Number : 61 Question Id : 97103631082 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following mobile payment application is developed by the National Payments

Corporation of India based on UPI?

Options:

. x MYGOV



, , BHIM

, « UMANG

4% Phone pay

Question Number : 62 Question Id : 97103631083 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Assertion(A): Night time temperature in the central parts of a city are generally higher

than those over the surrounding rural areas,
Reason(R): Radiation losses over the urban areas are less than that over the rural areas.

Choose the correct answer from the options given below.

Options :

v Both (A) and (R) are true and (R) is the correct explanation of (A).

Both (A) and (R) are true but (R) is not the correct explanation of (A).

- (A) true. but (R) 1s false.

4w (A) 1s false. but (R) 1s true

Question Number : 63 Question Id : 97103631084 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Which of the following activity contributes more to water pollution than any other

throughout world?
Options :

| «» Industry

Hydroelectric power generation
2. %

3 % Urbanization

Agriculture

Question Number : 64 Question Id : 97103631085 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following 1s not a water-borne disease?

Options:

1 » Cholera

, » Hepatitis

5 » lyphoid

4 Dengue



Question Number : 65 Question Id : 97103631086 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following is not a renewable natural resource?

Options:

| w Fresh water

Clean water

3 ¢ Salt

Fertile soil

Question Number : 66 Question Id : 97103631087 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The chemical formula for Baking soda is

Options:
NH4Cl

1. %

, » NaHCO:

Na-CO3z:H-0
3. ®



, « CH:COOH

Question Number : 67 Question Id : 97103631088 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which was the Cultural Capital of Andhra Pradesh?

Options :

| w Tlirupati

, % Visakhapamam

» Rajamahendravaram

_ Amaravathi
4. ®

Question Number : 68 Question Id : 97103631089 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Koundinya wildlife sanctuary 1s located in which of the following states?
Options :

1« Andhra Pradesh

Kerala



5« lamil Nadu

4% Kamataka

Question Number : 69 Question Id : 97103631090 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

National council for women education was established m

Options:

v 1958

Question Number : 70 Question Id : 97103631091 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Autonomy in higher education system implies freedom in

Options :

Administration

1. #



5 Curriculum development

3 % Finance

., Policy-making

SANSKRIT
Section Id : 971036442
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 70
Section Marks : 70
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Is Section Default?: null

Question Number : 71 Question Id : 97103631092 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
FHIGCT TEAUSIET HIS:

Options :

1. ® EI'I'H'&E’:

2. ® ﬁ"ﬂTﬁT:r



Question Number : 72 Question Id : 97103631093 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Aacar 3fa w4 A1 2

Options :

ECACRD

2. #

Question Number : 73 Question Id : 97103631094 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

HFATATEATTENOT TR fordea: 2

Options:

1. % rege:



Question Number : 74 Question Id : 97103631095 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

HIAGHET ®HW: &F: 2

Options:

3, % SiE
4. =

Question Number : 75 Question Id : 97103631096 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

AT e A TETHEI =Y g aeIy:




Options :

) % % AL
FHOUTTSAG,
3. % ¢
I EREEE
4.« 2 >

Question Number : 76 Question Id : 97103631097 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

“BIaR {EUTAA” 31 HEd: Sadiaey: &: 2

Options :

Question Number : 77 Question Id : 97103631098 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

SRR AHE TS IHTH HUSICET HIQTET: FHIAI 2

Options :

1w 09

, o 09

3 % 21

4 = 100

Question Number : 78 Question Id : 97103631099 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Add HTHIGET STEvTH

Options :

me

CaaTeTTISTEUTH

 IEISTEUTH

HeAG VA



Question Number : 79 Question Id : 97103631100 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

“ERA RIS §6 T &

Options :

o giadr

Question Number : 80 Question Id : 97103631101 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
eI RETE: &

Options:



4« HIH:

Question Number : 81 Question Id : 97103631102 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

JREaAYle gAFAT: 39ead: e & ?
Options:

| « WTOTHI:

2 ® HAecHY:

Question Number : 82 Question Id : 97103631103 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Options :

1. ® ﬁ'ﬁl’-ﬂ':



Question Number : 83 Question Id : 97103631104 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
grfgaaeaaT 75 TR AHEGH 2

Options :

SEEAYI

1. # o

> % HateHpld Al

3. ¢ 391

Question Number : 84 Question Id : 97103631105 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

dfcehEay Tisharar: giaer:

Options :

1. % CrEIEE

, x ATRIRTAE:



Question Number : 85 Question Id : 97103631106 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

YS AGEHRY Udes] R30I

Options :

|« @Ud

5 v HIARIS

3 % I

4w TERI

Question Number : 86 Question Id : 97103631107 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

NUGdCHES AT 3UAYT

Options :




. ST

9] Y -
3 @ HUSehIH AN

CCIEIEE]

4. % :

Question Number : 87 Question Id : 97103631108 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
" G FAHAY ~gfa e 3ufAele T afE:
Options :

1, % SIEALR

Question Number : 88 Question Id : 97103631109 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

eafeEdgaaredy faurg: fefAcafadaa o

Options :




AqH:

Question Number : 89 Question Id : 97103631110 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

“ATATEATT AT 3cTT Y Aeq: HieHY HILh: 2

Options :

1w TSR

5 % Hegaref

Question Number : 90 Question Id : 97103631111 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

TN TAACHS FH dhel FFAAT



Options :

1.v O

Question Number : 91 Question Id : 97103631112 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

e g

Options :

T AIHTIAH

1. #

STHTTETH

IERIEIEre)

Question Number : 92 Question Id : 97103631113 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

“Jersfer-armHqe Ffaeier o afeea|
HTEAT AATHACHAT 8 117

=3 FEar T4 ggeufan °

Options :

Question Number : 93 Question Id : 97103631114 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Options :

1. % SATTETATGI

, » GeAEeeAle



Question Number : 94 Question Id : 97103631115 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

aaeaacar 3T s o= Teeaa: ©

Options :

Question Number : 95 Question Id : 97103631116 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
HeAHE AR FHICY TW: o TRI0I|

Options:




Question Number : 96 Question Id : 97103631117 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

“ereg facT: eegcard 3o &: goarelry: 2

Options :

Question Number : 97 Question Id : 97103631118 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

CECIEREEIET L] Uqeleasdra

Options :

1. % 3aleUTH



Question Number : 98 Question Id : 97103631119 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

FIEIERER fafe: i veReE: 2

Options :

1. % %C:%?-T:

IEICLE

Question Number : 99 Question Id : 97103631120 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

AT eafAgaiientor HTRHT:

Options:



3eTed-HAed-FaRdT:

FUS-Te]-F:

TH-TAYH-3TITAT:

TAT-TT -0

Question Number : 100 Question Id : 97103631121 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

o o

Hiwqaﬁﬁ@a]i “OEg. 929, Hwag O 8T &9

=

Options :

gie:

, « I

Question Number : 101 Question Id : 97103631122 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



guftre wafafaeay sEr: &: 2
Options :

1. % PEREREE

—

50
v deiy leadH:

2.

-
GELE

a)
=
I
e
E1)
Y
1

i—
I A HIH:

Question Number : 102 Question Id : 97103631123 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

tafATaAAa18G: TXUTcad [ohel 3IHIT 2

Options :

1.¢ ER)

i —
5 x clldenlldas:

3. % e

4 % FEAE:

Question Number : 103 Question Id : 97103631124 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
“T(HUT FMO FAT FTelr 3FT JATasfh: el FAOT faefad 2

Options:

| HIUHIH HOH

3, % 3T

C
4 % «daea: ohdl

Question Number : 104 Question Id : 97103631125 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

‘Hedadl $c99 daauas I e 2

Options:

Jeg=AT TTHL)

1. %

5 % e FI iag

3. % : ”fi dar

edad gfdad=s
4. “ s




Question Number : 105 Question Id : 97103631126 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

“FATAT ol 399 A Tfh: & gor faeag 2

Options :

T T AT ATTIRTITH

’|_ w
2. % %"m;{ FAR aT

3. v FEFITEERIOT T

4« ATOERTFTTIA

Question Number : 106 Question Id : 97103631127 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

C 5 us
"Il Fl TgA|” I TIET 3ETBI0H

Options :



4. % JRECE

Question Number : 107 Question Id : 97103631128 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

“FUAEATS THITI 3a TIET 3eeH

Options :

FHSUTHY:

1. # C

, v TAIE:

L« UTHER:

Question Number : 108 Question Id : 97103631129 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A GUTtE ASU[HEg-A T AERIRG SRaAH Jaior §2dd ?

Options :

AT IAF
1.4 ki

2.“i[3-||



Question Number : 109 Question Id : 97103631130 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

o Y (Y

“HA T T T A e 3fa e S

L . W

AR TR Thad

Options :

e &

Question Number : 110 Question Id : 97103631131 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

IFATEr oideasa 73T g
Options :
39HA

1. # =



3.¥ i [

L

Question Number : 111 Question Id : 97103631132 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

HTOh(Ceh TRGH: hIgel: ATdh:?

Options :

Question Number : 112 Question Id : 97103631133 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

- | . W ki
dAlldeniHla {lpd lcen



Options :

, » SUTHERA

FICAdTHAGOH

2. %

3. % 5 o

4 % STRHIRTH

Question Number : 113 Question Id : 97103631134 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Rfasases T gegeT
Options :

fARTOTER =AY

1. %

dRIAHIHYH

Question Number : 114 Question Id : 97103631135 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

@'Q‘:I’“—Hﬁﬂﬂ Hplenlcd &4 TUAE wE F@ﬁi A de_'L{CIU*-c{t:I ?

Options :

deeary:

2ch:

Question Number : 115 Question Id : 97103631136 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

JealFIvAT: 3fa f[AEaa: FaaR:

Options :

COITARSE

1. #



Question Number : 116 Question Id : 97103631137 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

FETAITET: 3TH: $F TH °

Options :

MWW

, v HTOCHIEET A

5« TFOTHUETET 9TAf

4 % SoreprT: O

Question Number : 117 Question Id : 97103631138 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Ii-;’r':{ldlc_irlnlii J-|51ch|t:-f| qHﬂg‘i; &F: 9

Options :

3ol

1. ® =

W



Question Number : 118 Question Id : 97103631139 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
TRV GUSiAy: UY: ATed|

Options :

Question Number : 119 Question Id : 97103631140 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

MASTATUT Afecagcaeard AUH &: 39U ?

Options:

| x AR

ICEUEES

2. %

3, v STETEH:



AdTeTeq:

Question Number : 120 Question Id : 97103631141 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

ACTATEHIT: THEUTRT: HEAT ded faad: 2

Options :

Question Number : 121 Question Id : 97103631142 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
FAIRAEY, TSRy o TREVIAR: AEELY: &: 2
Options :



4. ¢ ferdfe:

Question Number : 122 Question Id : 97103631143 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
HETART ITHITHA ATHS0T: shel TTH0T HTHAA: 2

Options :

Question Number : 123 Question Id : 97103631144 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
AAC, AN TG AIGTgATd: FICHA Tohedl FaIaoId: 2

Options:

1. % GRIH



2. %
3. %
4. = I

Question Number : 124 Question Id : 97103631145 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

FNTAREEY -2 gear: et & 2

Options :

. SFTHAT - YA

ATUSET - AsIHeT

2. %
HTUZET - /g
3. v =N
i fa¥
4« SIHCT - A0S

Question Number : 125 Question Id : 97103631146 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

TeeMEIT: JoRAT: e qofia: 2



Options :

| AN HE
, x PG HEA
3% 3 HEA
, x  TIAUT T

Question Number : 126 Question Id : 97103631147 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

FIEHITRATOTA! 2T 4T T I¢ Had|
sfa & &7 3glRgaa: 2

Options :

., TR - FEOH

, » T - IR



Question Number : 127 Question Id : 97103631148 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

VAN FHIEAT THHEITIE H=gedid|

Options :

2. %
3. % h
4. &

Question Number : 128 Question Id : 97103631149 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

FANHFATET TIH: &leh: HFEACEIITH ?

Options :

1. % AEAIGATIT:

, w TAHATEHATIT:




Question Number : 129 Question Id : 97103631150 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

HISRISThd TFRAURET Jegehvs e {=aH ?

Options :

., TSRO

, ACHATIgROT

Question Number : 130 Question Id : 97103631151 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Fidcaarareq: TEPRIGAT: RICATRIADRNRUT hed T HfATRd: ?

Options:



Question Number : 131 Question Id : 97103631152 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

TShiad:

s

Options :

. TOHE ARG ar

1.

S v ugaﬁr AT ARG ar

e Sreafe:

3. %

ysfaer It

4. %

Question Number : 132 Question Id : 97103631153 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

fAaTer FARTSET AAER FeaTT 3cRvede : & 2

Options :

| % JHAGASHNI:



|y FoITes - {fF - Iome:

S EICECIIEIGEE
3. %

S IS EEIREICTE
4, ® B

Question Number : 133 Question Id : 97103631154 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
ARy TsarsTEfany TaeAaReToae 2

Options :

Question Number : 134 Question Id : 97103631155 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

FeTs: FEIFIS TASET 380l I 2

Options :



Question Number : 135 Question Id : 97103631156 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

FNRMEEN FAFa=T 96T

Options :

.« @

Question Number : 136 Question Id : 97103631157 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

O §H: JecddAa: Wad doasaH

o

=3 FITmR: aeaeee

Options :

i
HAld Aldiar<e

3UHERATFIH

REFAETEIC )

3. %

IHehHdia<

Question Number : 137 Question Id : 97103631158 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

ARAGEAAY 37 ARA 2AecT F Jh: TAHRET 2

Options :

= ECEICISE

1. %

5 o ORI

3. % i t



Question Number : 138 Question Id : 97103631159 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A

TEEAATEIAGEHY RAJEAE: &hel SIEAH 9gm: 2

Options :

Question Number : 139 Question Id : 97103631160 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Uhd AleATSed=gd Fredd &

Options :

- ALET:]

AT ATeh:



4. B

Question Number : 140 Question Id : 97103631161 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

HAGHT AFeciell FET AEY: A 3T IrHadr 2

Options :

| % SHUAISTH

3. e alvﬂl’ﬂﬁ'

4w FITECTTHH



